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A NEW RELIABLE ATM.

OOPT STAGE 1000.

- Use case Description & [page 14]

01.SYSTEM TEST CHE

Use Case 2. Withdraw Use Case 3. Withdraw
Actors Customer Actors Customer
-Customer can withdraw cash from account by using card or -Customer can withdraw cash from account.
bankbook. -Customer can only withdraw money in unit of 710000%,
-Customer can only withdraw money in unit of 10000% and ‘ 50000% under balance.
50000% under balance. -Customer needs to choose the number of 50000%.
Description -Customer has withdrawing limit at a day. Description -Customer needs to know password of an account.
-Customer needs to choose the number of 50000%. -If customer is withdrawing cash from other bank's account(not a
-Customer needs to know password of an account. default bank), ATM takes charge of certain percentage.
-If customer successfully withdraws, ATM requests Offer to update -If customer successfully withdraws, ATM requests Offer to update
server information.(Hidden) DB.
2 Use case 'Withdraw'@| description0l Stage 10030] BA|Z|O] K| EE 'limit at a day'2te - o "
N0l M= sEZLCH Stag:100301l LH?%% T/t E2tdS FAISHOR gL y —AT_MO'”*'l ds= _JF %!\E 2'_1%% e El-_lT_l_ 7|J§'o
-Withdraw 2| Description & limit a day2t= F&2 .
-ATMOAM 7|2 X o 2 #HE|Ste 22| AZEE Melstis 2IE Al
87} 2=Ch= Descriptionga &7}




A NEW RELIABLE ATM.

OOPT STAGE 2030.

Activity 2035. Define System Sequence Diagrams

01.SYSTEM TEST CHE

Use Case : Deposit

1. Customer selects deposit menu from the basic
screen.

2. System prints out “Input check card or bankbook
or credit card”.

3. Customer inputs credit card, check card or
bankbook.

4. If user information is wvalid(from “Insert” and
"Request Customer’s Data"), ask customer to input
cash.

5. Customer Inputs cash in unit of 10000% and
50000%.

6. System checks amount of cash inputted.

7. If total amount of money is correct, system
invokes “Print transaction receipt”.

8. (S) If Transaction Receipt is successfully printed,

ask Offer to update server information.

3 : wrput money()

Use Case: Deposits

1. Customer selects deposit menu from the basic screen.«

2. Customer inputs account or credit card number.«

3. Customer Inputs cash in unit of 100004, 50000+

4. System prints out transaction receipt.e

: Customer

% : System

5 1 : selectDeposit() b--

2 insert() I
! 3:inputCash() :

=t
S

% sequencelf HA|=l 8# Transaction Receipto| It EZF EXWSHA| RELICE Of0) tat
g A0 ot siA0] oo SRS LT

-71EL HE FHHO|RAE Descriptions
-Print Transaction Receipt2| 42, sequenceM e

X| 2, system operationO| OfL| 22 d|agram01|E HHASHX| =,
-0] 2|°| CtZ Use case= = System sequence diagramal} 0'3'—“" = 7HX| =
£ description2 7.
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A NEW RELIABLE ATM.

OOPT STAGE 2030.

Activity 2039. Analyze (2030) Traceability Analysis

Ref.# Function Use Case
R1.1 Deposit i
R1.2 Deposit Without Bankbook

R1.3 Withdraw

R14 Transfer

R15 Exchange

R16 Loan )

R1.7 Pay Utility Bill o ay Utility Bill

R1.8 Check Balance SR Check Balance

R2.1 Insert

R2.2 Print Transaction Receipt nt Transaction Receipt
R2.3 Print Error

R24 Do Forced Termination Do Forced Termination
R3.1 Take Charge Take Charge

R41 Check Password 4 Check Password

RS.1 Transaction Lock . BT ransaction Lock

R6.1 Check Validation WCheck Validation

R62 Update Database pdate Database

Operation

1. selectDeposit

. selectDepositWithoutBankbook
. selectWithdraw

4. selectTransfer

. selectExchange

. selectLoan

. selectPayUtilityBill

8. selectCheckBalance

9. selectForeignCurrency

. insert

. inputCash

. inputAccountNumber
. inputAmountOfMoney
. inputPassword

. Validation

2 ZE Function 1} Use case Operation®| BtAS0| J2{F X2t Hash A EQX|X| S0t F=7hEQl =3

0| EQsirt.

Ref.# Function

R1.1
R1.2
R1.3
R14
R1.5
R1.6
R1.7
R1.8
R2.1
R2.2
R2.3
R2.4
R3.1
R4.1
R5.1
R6.1
R6.2

Deposit

Deposit Without Bankbook ;

Withdraw

Transfer

Exchange

Loan

Pay Utility Bill

Check Balance

Insert

Print Transaction Receipt
Print Error

Do Forced Termination
Take Charge

Check Password
Transaction Lock
Check Validation
Update Database

Use Case

Deposit

Check Balance
Insert

“$Print Transaction Receipt

Print Error

—#Do Forced Termination

Take Charge
Check Password

M Transaction Lock
Ny Check Validation
Update Database

Operation
#1. selectDeposit
‘2. selectDepositWithoutBankbook
. selectWithdraw
. selectTransfer
. selectExchange
. selectLoan
. selectPayUtilityBill
. selectCheckBalance
. selectForeignCurrency

. insert

. inputCash

. inputAccountNumber
. inputAmountOfMoney
. inputPassword

. Validation

= O0|&ot E7| g =38
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Brute Force Test.
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STAGE 1000. 02.STATIC REPORT L&

AL =3 o8 ™ : ZE function methodOtCH S23)A list_bankS % 7|t F Rt

A

/f ®3FE 0, E¥1, ME7tE2, XNEEX3 // 28 // ATFE
public void insert(String str) {
String[] list_bank = { "=meg”, "7ized", "sE2@", "dme@", "WESE", "gIe@", "NIS@", "HNFIC", "HOFIE", "ZHALS" };

this.card = str;
this.account.setBank(list bank[Integer.parseInt(card.chardt(@) + "")]);
this.account.setAccountlumber(card.substring(1});

h

public int lockAccount()
String[] list bank =
int bank;
for (bank = @; bank < list bank.length; bank++) {
if (list _bank[bank].equals{account.getBank()})
break;

L} n L} n n = n L} - n L} n L} n Ll L} n -1 n Ll = n "= = n -
{ "=wezt, "rzeg', "smem", "usm2zg, "MEsgt, "2g23 =2 =#E7tE HOFIE", "2OFE" };

¥
if ((this.errorType = offer[bank].readDatabase(account)) == @) {
account.setIslocked(true);
if (offer[bank].updateDatabase(account)) {
return 9;
} else
return 2;
1 else
return 3;

h

public int deposit(String money) {
String[] list_bank = { "=meg”, "7ized", "sE2@", "dme@", "WESE", "gIe@", "NIS@", "HNFIC", "HOFIE", "ZHALS" };
anmd+ hanl--



STAGE 1000. 02.STATIC REPORT L&

L == . =9} method 2 F7I8L0] 7HE 4, QX244 M5

oz*_

AL
T

// String[] list_bank: mzcowg

C 2UEH global= &
Str\'ing[] liSt_bﬂnk ={ “Efﬂ:%“: II?'E%%“: “‘I&:E%?:.“_, “'ﬂa.j%%"_, “"'qu a-|_|| I—?'EI%%“J “E'-.'_la'%%“_, "”&.”S?_"l'E"_, ||_E,‘_I_“:|_;-‘.I_E||:II “—":=|:'I?_"|'E“ }_-.
private int findWhichBank(Account account) ﬂ
[/ O 2B/FIEAQIX) #1 2BERE int= 2.
int bank;
for (bank = @; bank < list bank.length; bank++) {
if (list bank[bank].equals(account.getBank()))
break; o=
} HE3tH

return bank;
public int lockAccount() { // accountZ locksts B:E,

findWhichBank D1|_+_E —j|<—7|' /] O 23OIX| g},

int bank;
bank = findWhichBank(account);



STAGE 1000. 02.STATIC REPORT L&

If-else &2| T P BE HAEO0R {0 2 2 ELHE} else~~
public int deposit(String money) {
String[] list_bank = { "smez", "IFgzz", "sga2g”, "dm2mt, sz, "2

int bank;
for (bank = @; bank < list bank.length; bank++) {

if (list bank[bank].equals(account.getBank()))
break;

} else {
account.setDept(minus(account.getDept(), money)};
String newlLog = new Date() + " " + money + " &z \t( LiE=: " + .

newlLog = newlog + account.getlog();

account.setLog(newlLog);

if (offer[bank].updateDatabase(account)) {
return 9;

| e f £ g 2] 2 8ol S0i7t 212,
return 2; &) |‘ |—|'7|'t D|'Xl —||' Tlf— eIse7f
v ¥ HI‘E |_ __I.I.K

} else { MainSystem =2
return 3; EE |:|-||AEO| :I'I'le' Ia_HEl'

}
} else {




STAGE 1000. 02. STATIC REPORT Ci 2 O

If-else M| = MethodF 7t /AHAM S BICHZ =8/ &7| return&E 0| &.

public int deposit(String money) { // 22 75. returnsi=s MHE2 GUINA frametE [ 210,

1F (15HPongAccount(bank acccunt))

return WRONG ACCOUNT;

if (this. account getEank() substring(2, 4).equals("7iE")) {
return deposit CARD(money, this.account, bank);

} else { // U= AZ7H2T AL 2.
return deposit BANK(money, this.account, bank);

¥

Else return 3; 91O{ %!
c|EH S e 5 A O|MANEH ifE 2o F=
g I U= ZE ARZHE

+ elsez 2| BtE X Al2tE



STAGE 1000.

Magic number Fz| ®: 2|HslEe =AE0| 242 2[0ls

NewLOE = NewLog + account.getLog();

account.setlog(newlog);

if (offer[bank].updateDatabase(account)) {
return @;

} else {

newhAccount.setBalance(plus{(newAccount.getBalance(

tempLog = new Date() + " " + money + " 7|EHIH 2"
account.getAccountNumber() + "\t( Tre :
tempLog + newAccount.getLog()};

c(fenpl o) ;
if (|GFFEP[temp bank] .ppdateDatabase(newAccount))

return 2;

+
J]

¥

return 2;

02. STATIC REPORTLHE

ol=X| & &= Gl=.
t=X[, X 2& £
| OF A HO
= T HAO.
otz = € 5+ ©f



STAGE 1000. 02. STATIC REPORT Li| &

ElBEE =S B g7 € = US.

Magic number 3Fz| =

[ EUT0IAM X,
senderUpdateCheck = withdraw Money(money, offer[bank], account, "&2", receivelccount);

if (receiverUpdateCheck == SERVER_NOT_RESPONSE || senderUpdateCheck == SERVER_NOT_RESPONSE)
J// updateDBA 257t 4 ZE2 Hf FH

withdraw_Money(money, offer[receiver_bank], receiveAccount, "7|Z #Hzf fg=");
withdraw Money(money, offer[bank], account, "7|Z& Az 54");

return SERVER_NOT_RESPONSE;

¥

return NO_ERROR;
¥ // receiver? bank 2021 validsii| 2w &,
int receiver bank;
receiver bank = findWhichBank(receiveAccount);

bank, receiveAccount))
return WRONG_ACCOUNT;
otter|receiver_bank].readDatabase(receiveAccount);

oy Ea o = 2= 1 7| Z}OE EHO
c|HolEH =X=8 &2 USHFHM 7t [ o))
=S AMO O if (i1sUnderBalance(money
— OJ'l- TerE_'_ o= I M E|- return NOT_ENOUGH_BALANCE;




STAGE 1000. 02. STATIC REPORT Li| &

If-elsez Hz| A L oMo ZHE felseREE & 5 US

1 —1if (offer[bank].checkValid(account)) {
if ((this.errorType = offer[bank].readDatabase(account)) == 8) {

int temp bank = 20; -
for (int 1 = 9; 1 < 10; i++) { |f< ){1
if (newhAccount.getBank().equals(list bank[i])) { |f0~){2
Eempibank = 1; if(“0{3
reak ; .
1 if(~){4....
¥
if (temp bank == 28) { % = %]
return 2; ""l EH IS+
¥
;2 —————— 1if ((account.getBank().equals("#st2%") && isBig(money, account.getBalance()))
|| (laccount.getBank().equals("~zt2=") &% isBig(plus(money, "1308"), account.getBalance()))) {
return 1;
} else {

if (newhAccount.getBank().substring(2, 4).equals("7t=")) {
if ((this.errorType = offer[bank].readDatabase(newhccount)) == 0) {

nnhdh W

- if (isBig(money, newAccount.getDept())) {
_— return 6;
} else {
newhAccount.setDept(minus(newhAccount.getDept(), money));
String newLog = new Date() + " " + money + " ##\t( GE=: " + newAccount.getDept()

+ n }\nll;
newlLog = newlLog + newAccount.getlLog();
newhAccount.setLog(newlog);

6
R\\R\‘\E\\“““““-\~\ if (loffer[bank].updateDatabase(newhAccount)) {

return 2;

¥



STAGE 1000. 02. STATIC REPORT Li| &

= - = =HEL=2
If-else™ ¥zl = S0l =SS
I
// £288L account?t validsix| 22w 22,
if (l!offer[bank].checkValid(account)) return WRONG_ACCOUNT;

if (isWrongAccount(bank, account)) return WRONG_ACCOUNT;
offer[bank].readDatabase(account);

J// receiver? bank 2023 validsr g2E 22,

int receiver_bank;

receiver _bank = findWhichBank(receiveAccount);

if (isWrongAccount(receiver bank, receivefccount)) return WRONG_ACCOUNT;
offer[receiver_bank].readDatabase(receivelccount);

2 HIE ok o
S AT T Eol

/] &
f (isUnderBalance(money)) return NOT_ENOUGH_BALANCE;

i
1 —— if (receiveAccount.getBank().substring(2, 4).equals("Ft=")) { // =AXTpFEQ Ho: =4
receiverlUpdateCheck = deposit CARD(money, receiveficcount, receiver bank);

[/ £3F e
senderUpdateCheck = withdraw_Money(money, offer[bank], account, "&2", recelve
2 _ —— — if (receiverUpdateCheck == 2 || senderUpdateCheck == 2) {// updateDBAl 257} & -

/] AR AHE HA
receivefccount.setDept(plus(receiveliccount.getDept(), money));

String newlLog = new Date() + " " + money + " 7IEAZH A= \t( BE=: " + recel
newlLog = newlLog + receivelccount.getlog();

nnnnnnnn Rrrmnimd ol arefmmnal A -



STAGE 1000. 02. STATIC REPORT L&

o=
43
H

H} 3 TE HAIX]
—

JAVA_BB

A% 9

=
q0
il
oo

condition®] EEZE2l assignment operatorE AHEEL

aaaaa

break;

if (this.account.getBalance(
return 1;

* pxchangeRate[1i

= 0) {

G B1g(money, account.getBalance()))
| | {'account getEank{} equals("xzt2z") && isBig(plus(money, "1300"), account.getBal
return 1;
} else {
String newlog;
if (laccount.getBank().equals("+z=28")) {
this.takeCharge(account);

h

account.setBalance(minus(account.getBalance(), money));
newlog = new Date() + " " + money + " Z2\t( 7« : + account.getBalance() + " )}\n" + a
account.setlLog(newlLog);



STAGE 1000. 02. STATIC REPORT L&

5 glut

break;

if ((this.errorType = offer[bank].readDatabase{account}} ==
nt.getBalance()))
2E") && 1551g{plu5(m0ney, "1300"), account.getBal:

|| (laccount.getBank().eq
return 1;
} else {

Method £ [Ef = +
'(A=B)==C' 7+=& Hg|

I

public boolean isWronghAccount(int bankIndex, Account account) { // Z=2 AZ: true 2|5,
this.errorType = offer[bankIndex].readDatabase(account);
boolean readlWrongDB = (this.errorType != @);
return readWrongDB;




STAGE 1000. 02. STATIC REPORT CHS O

{}jj Ole A - EAL TITE HIAIX]
= Rl MOl HS
JAVA_TT =8 Sasol 58 40| gAY, 2% =4 (80 2E Bt Zaslo] AAl o2 T = HA T
public int lockAccount() {
String[] list bank = { "=m28", "7jz28", "s3ew", "ymez", "WE2E", "egzz”, "s=e%t, "
int bank;
for (bank = @; bank < list bank.length; bank++) { }
if (list_bank[bank].equals(account.getBank())) if ((this.errorType = offer[bank].readDatabase(account)) == @) {
break; if ((account.getBank().equals("4#22") && isBig(money, account.gett
} || (account.getBank().equals("4z2%") && isBig(plus(money.
if ((this.errorType = offer[bank].readDatabase(account)) == @) { return 1;
account.setIsLocked(true); } else |
if (offer[bank].updateDatabase(account)) { String newlog;
return 0; if (laccount.getBank().equals("4z28")) {
; else this.takeCharge(account);
return 2; 1
} else account.setBalance(minus(account.getBalance(), money));
return 3; newlog = new Date() + " " + money + " 22 \t( ®%: " + account.§
} account.setlog(newlog);
public int deposit(String money) { if (offer[bank].updateDatabase(account)) {
String[] list_bank = { "smez", "71228", "su2z", "umez", "wEez”, "s3sz’, "smew’, " return 0;
int bank; } else {
for (bank = @; bank < list bank.length; bank++) { return 2;
if (list bank[bank].equals(account.getBank())) \
break; 1
} } else {
if (this.account.getBank().substring(2, 4).equals("#12")) { return 3;
if ((this.errorType = offer[bank].readDatabase(account)) == @) { 1

if (isBig(money, account.getDept())) {
return 6;



STAGE 1000.

public int lockAccount() { // accountZ locksi= =2,

h

public int deposit(String money) { // %2 7l5. returnst= 83

/] o= 28X geO
int bank;
bank = findWhichBank(account);

/] AT AR AFCIX Bl
if (isWrongAccount(bank, account))
return WRONG_ACCOUNT;

// lockZ 7L,
account.setIslocked(true);

// DB0l update
return checkUpdateDB(offer[bank], account);

02.STATIC REPORTLHE

O

=4 F7I & 8¢l

public int withdraw(String money) { //

// Xe@gsbank. o) 2TOX 27| YT,
int bank;
bank = findWhichBank(account);

// account =9,
if (isWrongAccount(bank, account))
return WRONG_ACCOUNT;

/[ T =23 2

if (isUnderBalance(money))
return NOT_ENOUGH_BALANCE;

else {

£33

return withdraw Money(money, offer[bank], account, "£2");

¥
}

/] EE22715(+%EM7 220) + logHoE

private int withdraw Money(String money, Offer offer, Account acco

+ checkUpdateDB
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